

Name: Class:



Related addition and subtraction sentences

Solve the following. (follow the example).

If $\blacksquare \longrightarrow 5 + 2 = 7$

Then $\blacksquare \longrightarrow 7 - 5 = 2$

If $\blacksquare \longrightarrow 2 + 2 = 4$

Then $\blacksquare \longrightarrow 4 - \dots = 2$

If $\blacksquare \longrightarrow 10 + 2 = 12$

Then $\blacksquare \longrightarrow 12 - \dots = 10$

If $\blacksquare \longrightarrow 7 + 3 = 10$

Then $\blacksquare \longrightarrow 10 - \dots = 7$

If $\blacksquare \longrightarrow 9 + 6 = 15$

Then $\blacksquare \longrightarrow 15 - \dots = 9$

If $\blacksquare \longrightarrow 3 + 9 = 12$

Then $\blacksquare \longrightarrow 12 - \dots = 3$

If $\blacksquare \longrightarrow 5 + 5 = 10$

Then $\blacksquare \longrightarrow 10 - \dots = 5$

If $\blacksquare \longrightarrow 5 + 6 = 11$

Then $\blacksquare \longrightarrow 11 - \dots = 6$

If $\blacksquare \longrightarrow 17 + 2 = 19$

Then $\blacksquare \longrightarrow 19 - \dots = 2$

If $\blacksquare \longrightarrow 13 + 5 = 18$

Then $\blacksquare \longrightarrow 18 - \dots = 5$

If $\blacksquare \longrightarrow 16 + 3 = 19$

Then $\blacksquare \longrightarrow 19 - \dots = 16$

If $\blacksquare \longrightarrow 7 + 9 = 16$

Then $\blacksquare \longrightarrow 16 - \dots = 9$

Name: Class:



Related addition and subtraction sentences

Solve the following. (follow the example).

If $\blacksquare \longrightarrow 5 + 2 = 7$

Then $\blacksquare \longrightarrow 7 - 5 = 2$

If $\blacksquare \longrightarrow 2 + 2 = 4$

Then $\blacksquare \longrightarrow 4 - 2 = 2$

If $\blacksquare \longrightarrow 10 + 2 = 12$

Then $\blacksquare \longrightarrow 12 - 2 = 10$

If $\blacksquare \longrightarrow 7 + 3 = 10$

Then $\blacksquare \longrightarrow 10 - 3 = 7$

If $\blacksquare \longrightarrow 9 + 6 = 15$

Then $\blacksquare \longrightarrow 15 - 6 = 9$

If $\blacksquare \longrightarrow 3 + 9 = 12$

Then $\blacksquare \longrightarrow 12 - 9 = 3$

If $\blacksquare \longrightarrow 5 + 5 = 10$

Then $\blacksquare \longrightarrow 10 - 5 = 5$

If $\blacksquare \longrightarrow 5 + 6 = 11$

Then $\blacksquare \longrightarrow 11 - 5 = 6$

If $\blacksquare \longrightarrow 17 + 2 = 19$

Then $\blacksquare \longrightarrow 19 - 17 = 2$

If $\blacksquare \longrightarrow 13 + 5 = 18$

Then $\blacksquare \longrightarrow 18 - 13 = 5$

If $\blacksquare \longrightarrow 16 + 3 = 19$

Then $\blacksquare \longrightarrow 19 - 3 = 16$

If $\blacksquare \longrightarrow 7 + 9 = 16$

Then $\blacksquare \longrightarrow 16 - 7 = 9$